CRITICAL THINKING SUMMER WORK

A taster and start to the learning – due in 2nd week of September
TASK 1 INTRUCTIONS: Read the following argument about bringing down the age of criminal responsibility.  Then answer the questions on a piece of lined paper.
Let the punishment fit the crime
1
Police statistics for 2006 record that 3000 crimes in England and Wales were committed by children under ten. It is shocking enough that 3000 child criminals are walking around among us, but 66 of the recorded offences were sex offences. Child crime is out of control.

2 
It is argued that the majority of these recorded crimes by children are acts of minor criminal damage or petty shoplifting - that is, they are little or nothing worse than normal childhood naughtiness - which do not justify labelling children as criminals. Such incidents, it is said, are recorded only because of the modern-day insistence on collecting statistics. The reality is that women and the elderly never leave their homes after dark for fear of abuse or violent attack.

3
Worse than that, for the people who live in many areas of our towns and cities, life within their own homes is completely miserable because every evening noisy gangs of tiny thugs gather in the street outside, creating a racket until the early hours of the morning. Their favourite forms of entertainment include revving up cars and, during winter evenings, letting off fireworks.

4
Police can currently only arrest people and really follow up on crime when children are of the current age of criminal responsibility – 10 years old.  
It is time that the government finally took effective action and reduced the minimum age for criminal responsibility. Critics have claimed that introducing criminal responsibility for children as young as five years old serves only to label as criminals children who desperately need care and rehabilitation rather than punishment. That is precisely the point: if children behave as criminal thugs, then they should be dealt with as such.

5
Child crime is completely out of control and solutions are needed urgently. Baby yobs should be dealt with by giving the police powers to arrest, and courts to give punishments to, children of 5 and up.
Questions
1. What is the main thing (the conclusion) that the author of the argument is trying to convince us of? (2 marks)
2. Identify the reason in paragraph 3 that is given to support the main conclusion. (2 marks)
3. What evidence, in numbers, is given in paragraph 1 that is used to support the claim that child crime is out of control? (2 marks)
4. Is this a lot of crime?  What else would you need to know to judge whether crime was ‘out of control’? (2 marks)
5. In paragraph 2 the writer states that ‘women and the elderly never leave their homes after dark for fear of abuse or violent attack’.   Other than child crime, what else might explain this fear?  (2 marks)
6. In paragraph 3 the writer refers to the gangs' favourite entertainments. What examples does the writer give?  (2 marks)
7. Give two reasons for an argument against baby ASBOs.  Why might they be a bad idea?  (4 marks)

TASK 2 INSTRUCTIONS: Think of a recent situation where you decided to trust or not to trust someone or something that was giving you information.  A salesperson?  A website?  A television show? 





Write down the situation and give two reasons why you chose to either trust or not the source of information.








